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QUESTION 1

Your company uses Dynamics 365 Supply Chain Management to manage its warehouse.
Users report that the inventory for several items in the warehouse is inaccurate.

You are required to ensure that users in the warehouse can verify and rectify the on-hand inventory.
Which of the following actions should you take?

A. You should implement the production input journal type.

B. You should implement the movement journal type.

C. You should implement the counting journal type.

D. You should implement the item arrival journal type.

Correct Answer: C

Explanation:

Counting journals let you correct the current on-hand inventory that is registered for items or groups of items, and then
post the actual physical count, so that you can make the adjustments that are required to reconcile the differences.

Reference:

https://docs.microsoft.com/en-us/dynamics365/supply-chain/inventory/inventory-journals

QUESTION 2
DRAG DROP
A company uses Dynamics 365 Supply Chain Management to sell automobile tires.

The company sells different models of tires. Each model is available in different diameter sizes. The combination of a
model and its diameter represents an individual stock keeping unit (SKU).

The manufacturer\\'s suggested retail price (MSRP) and purchase prices can vary between variants. The purchase price
for the variants will change over time, but the MSRP will never change once it is configured. All price changes must be

documented systematically. The MSRP must be the default selling price for the item if no other pricing is available.
You need to configure the prices for the tires.

Which configurations should you use? To answer, drag the appropriate configurations to the correct requirements. Each
configuration may be used once, more than once, or not at all. You may need to drag the split bar between panes or

scroll to view content.
NOTE: Each correct selection is worth one point.

Select and Place:
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Requirement Configuration
Define the intercompany planning group. v
Cne group and three legal entifies
Three groups and one legal entity . B e
Cne group for the supplier and a second group for the customer legal entities
Run efficient iterations. v
1
2
30
Correct Answer:
Requirement Configuration
Define the intercompany planning group. v
Cne group and three legal entities
Three groups and one legal entity . B R
Cne group for the supplier and a second group for the customer legal entities
Run efficient iterations. v
1
2
30
QUESTION 3
DRAG DROP

You need to determine the costing versions for the requirements.

Which costing versions should you use? To answer, drag the appropriate costing versions to the correct requirements.
Each costing version may be used once, more than once, or not at all. You may need to drag the split bar between
panes or scroll to view content.

NOTE: Each correct selection is worth one point.

Select and Place:
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Setting Value

Agreement type v

Date v

Expiration date
From date
Start date

To date

Correct Answer:

Setting Value

Agreement type v

e

Date v

Expiration date
From date
Start date

To date

Box 1: Planned

If a vendor can no longer deliver the raw materials for the energy drinks due to supply chain issues, the costs for using
an alternative vendor to source the raw materials should be used to determine the impact on profits.

Planned costs

A costing version can contain a set of planned cost records about items and manufacturing processes. A costing version
that contains planned costs is often used to support cost calculation simulations, such as simulations of the effect that

cost changes to purchased materials or manufacturing processes has on the calculated costs of manufactured items.
The item cost records for planned costs can also be used to support an actual cost inventory model by providing the
initial

values for item costs. These values include the calculation of planned costs for manufactured items.
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Box 2: Standard

The profitability for nutritional supplements manufacturing processes needs to be expressed in terms of the cost
categories for routing operations and the calculation formulas for manufacturing overheads.

Standard costs
A costing version can support a standard cost inventory model for items, where the costing version contains a set of
standard cost records about items and manufacturing processes. Cost data about manufacturing processes is

expressed in

terms of the cost categories for routing operations and the calculation formulas for manufacturing overheads.

QUESTION 4

HOTSPOT

You need to configure a product attribute to indicate whether a product is a limited edition.

Which configuration should you use for each attribute. To answer, select the appropriate option in the answer area.
NOTE: Each correct selection is worth one point.

Hot Area:

Requirement Configuration
Configure item for FIFO. _
Item model group
Item group
Price group
Costing version

Configure journal for import.

Item amval by date per ter
Movement by date per tier

Counting by tier

Correct Answer:
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Requirement

Ensure that users can view the royalty
amount on the sales order price details

page.
v

Select the Enable price details parameter in accounts receivable
Save the contract

Calculate the royalty

Create an invoice for the royalty amount

Create a royalty claim.

Create an invoice

Pick an order

Create a pack slip for an order
Confirm an order

Reverse a royalty accrual.

Process a royalty claim
Save a royalty contract
Cumulate a royalty claim
Configure a royalty claim

Set up items that require royalty
payments to use a royalty code.

Create a royalty contract
Create a royalty code group
Create a royalty term
Create a royalty item
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Reference: https://dynamics-tips.com/enable-product-attributes-d365-finance-and-operations/

QUESTION 5

An employee at a company needs to lay out the various component builds for bicycles.

You need to identify which constraints the employee should use to set up the bicycles.

Which two types of constraints achieve the goal? Each correct answer presents a complete solution.
NOTE: Each correct selection is worth one point.

A. table constraints that are used generically among product configuration models

B. expression constraints that are used generically among product configuration models

C. expression constraints that are unique to each product configuration model

D. table constraints that are always unique to each product configuration model

Correct Answer: AC
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